Link to the Solutions:

https://youtu.be/-10pkCO1hdw Exercise 3.1 (Averages)
@ A
Here are the ages, in years of nine people. 91, 70, 70, 69, 78, 82, 72, 85and 76

a) For this data:
i  Write down the mode
ii Find the median
iii Calculate the mean

A person whose age is 71 joins the group.

b) Find the median of the ten people

@ The number of cars passing a stretch of road during a particular period is summarised in the
following stem and leaf diagram:
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Work out the (a) mode (b) median and (c¢) mean for these data.

@ The mean weight of a group of ten students is 49 kg.
(a) Find the total weight of the students
One student joins the group, his weight is 38 kg.

(b) Find the mean weight of all the eleven students.
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